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Function Notation 0
3.3

You know that a linear function can be written in the form M =mMx+ %) . By naming a linear function f, you can

also write the function using function notation.
£ = mxarbo

The notation f(x), pronounced “f of x”, is another name for y. If f is a function, and x is in its domain, then f(x)
represents the output of f corresponding to the input x.
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Evaluate the function f (i) = —4x+7whenx =2andx = —2.
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Example 2: Interpreting Function Notation (7— - ) (" 2 ) \S)

Let f(¢t) be the outside temperature (°F) ¢t hours aftxp(ain the meaning of each statement.

a. f(0) =58 b. £(6) =n c. F(3) < f(9)
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Example 3: Solving for the Independent Variable

For fl(_x-) = %x — 5, find the value of x for whichﬂi) =-7. -\'UY\\@ c\ P‘M \\ \AQSS
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Example 5: Modeling with Mathematics
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The graph shows the number of miles a helicopter is from its destination after x hours on its
first flight. One its second flight, the helicopter travels 50 miles farther and increases its speed
by 25 miles per hour. The function f(x) = 350 — 125x represents the second flight, where
f (x) is the number of miles the helicopter is from its destination after x hours. Which flight

~ takes less time? Explain.
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F(x) = 350-119%
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